10:57:33 9/6/2018	Public Improvement Assessment F	·	roject: 19230 Assn esolution #:	nt: 185202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Robbie E Williams 1429 Edgerton St St Paul MN 55130-3431 *402 ARLINGTON AVE W *Ward: 5 *Pending as of: 4/18/2018	BEDNEY'S ADDITION PART OF LOT 2 ELY OF A L RUN FROM PT ON N L THEREOF AND 54 FT E FROM NW COR OF LOT 3 TO PT ON SELY L OF LOT 2 AND 102 FT NELY FROM SW COR OF LOT 3 AND ALL OF LOT 1 BLK 1	Grade and Pave Lighting  *** Owner and Taxpaye	90.95 16.05 r ***	96.00 96.00	\$8,731.20 \$1,540.80 \$10,272.00	24-29-23-31-0007
Camille Aw Chasteen 408 Arlington Ave W St Paul MN 55117-4241 *408 ARLINGTON AVE W *Ward: 5 *Pending as of: 4/18/2018	BEDNEY'S ADDITION PART OF LOTS 2 AND 3 BET 2 LINES RUN SELY FROM POINTS ON N LINE OF BLK 1 AND 15 FT AND 54 FT E FROM NW COR OF LOT 3 TO POINTS ON SELY LINE OF SD BLK 1 AND 42 FT AND 102 FT	Grade and Pave Lighting  *** Owner and Taxpaye	90.95 16.05	44.00 44.00	\$4,001.80 \$706.20 \$4,708.00	24-29-23-31-0008
Ronald Michael Vannelli Darlene D Vannelli 7023 N Shore Trl Forest Lake MN 55025-8701 *1383 ARUNDEL ST *Ward: 5 *Pending as of: 4/18/2018	VETERANS ADDITION LOT 10 BLK 1	Grade and Pave Lighting  *** Owner and Taxpaye	90.95 16.05 r ***	33.00 33.00	\$3,001.35 \$529.65 \$3,531.00	24-29-23-31-0028
Anne Mcinerney Michael Mcinerney 1391 Arundel St St Paul MN 55117-4242 *1389 ARUNDEL ST	VETERANS ADDITION LOT 9 BLK 1	Grade and Pave Lighting  *** Owner and Taxpaye	90.95 16.05	60.00 60.00	\$5,457.00 \$963.00 \$6,420.00	24-29-23-31-0027

\*1389 ARUNDEL ST

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment F	•	oject: 19230 Ass	mt: 185202	Manager: LM	Page 2
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Next Generation Homes Llc 888 County Road D W Ste 304 St Paul MN 55113-7593 *418 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	COTTAGE HOMES THAT PART OF THE N 120 FT OF LOT 3 LYING S OF ARLINGTON AVE W E OF WESTERN AVE N & SE OF WHEELOCK PKWY W & ALSO LYING WLY OF THE FOL DESC LINE KNOWN AS LINE A BEG	Grade and Pave Lighting  *** Owner and Taxpayer	90.95 16.05	80.00 80.00	\$7,276.00 \$1,284.00 \$8,560.00	24-29-23-42-0114
Gary J Follett Marcella M Otypka 426 Wheelock Pkwy W St Paul MN 55117-4257 *426 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	COTTAGE HOMES PART LYING SELY OF WHEELOCK PKWY & NWLY OF A L 175 FT SELY OF & PAR TO SE L OF SD PKWY OF W 85 FT OF E 118 FT OF LOT 4	Grade and Pave Lighting  *** Owner and Taxpayer	90.95 16.05	85.00 85.00	\$7,730.75 \$1,364.25 \$9,095.00	24-29-23-31-0001
Julie L Sparrow 433 Wheelock Pky W St Paul MN 55117-4256 *433 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	BEDNEY'S ADDITION PART OF LOT 3 WLY OF A LINE RUN FROM POINT ON N LINE OF AND 15 FT FROM NW COR TO POINT ON SELY LINE OF AND 42 FT FROM SW COR THEREOF AND ALL OF LOT 4 BLK 1	Lighting	90.95 16.05	68.00 68.00	\$6,184.60 \$1,091.40 \$7,276.00	24-29-23-31-0009
Julie A Hubbard James Hiller 439 Wheelock Pky St Paul MN 55117-4256	BEDNEY'S ADDITION EX N 127 16/100 FT LOT 5 AND EX WLY 29 FT LOT 6 BLK 1	Grade and Pave Lighting  *** Owner and Taxpayer	90.95 16.05	82.00 82.00	\$7,457.90 \$1,316.10 \$8,774.00	24-29-23-31-0018

## \*439 WHEELOCK PKWY W

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19230 Resolution #:	Assm	at: 185202	Manager: LM	Page :
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u> t	t Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Lynn M Belgea	BEDNEY'S ADDITION WLY 29 FT OF	Grade and Pave		90.95	89.00	\$8,094.55	24-29-23-31-0017
445 Wheelock Pky W	LOT 6 AND ALL OF LOT 7 BLK 1	Lighting		16.05	89.00	\$1,428.45	
St Paul MN 55117-4256						\$9,523.00	
*445 WHEELOCK PKWY W		*** Owner and Tax	payer ***				
*Ward: 5							
*Pending as of: 4/18/2018							
Rachel E Moore	BEDNEY'S ADDITION NLY 10 FT OF	Grade and Pave		90.95	40.00	\$3,638.00	24-29-23-31-0016
451 Wheelock Pky W	LOT 9 AND ALL OF LOT 8 BLK 1	Lighting		16.05	40.00	\$642.00	212) 20 01 0010
St Paul MN 55117-4256						\$4,280.00	
*451 WHEELOCK PKWY W		*** Owner and Tax	payer ***			,	
*Ward: 5							
*Pending as of: 4/18/2018							
Saw Sunshine Timothy	BEDNEY'S ADDITION EX NLY 10 FT	Grade and Pave		90.95	85.00	\$7,730.75	24-29-23-31-0015
Newhope Zan	LOT 9 BLK 1	Lighting		16.05	85.00	\$1,364.25	
455 Wheelock Pky W						\$9,095.00	
St Paul MN 55117-4256		*** Owner and Tax	payer ***				
*455 WHEELOCK PKWY W							
*Ward: 5							
*Pending as of: 4/18/2018							
Franklin L Gurney	TAYLOR'S WHEELOCK ADDITION	Grade and Pave		90.95	127.00	\$11,550.65	24-29-23-31-0064
Sharon Olson Gurney	LOTS 5 AND LOT 6	Lighting		16.05	127.00	\$2,038.35	
465 Wheelock Pky W						\$13,589.00	
St Paul MN 55117-4259		*** Owner and Tax	payer ***				

\*465 WHEELOCK PKWY W

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment F	•	Project: 19230 Assr Resolution #:	nt: 185202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Houa Thao	TAYLOR'S WHEELOCK ADDITION	Grade and Pave	90.95	60.00	\$5,457.00	24-29-23-31-0065
Chong Yang	LOT 4	Lighting	16.05	60.00	\$963.00	
469 Wheelock Pky W					\$6,420.00	
St Paul MN 55117-4529		*** Owner and Taxpay	ver ***			
*469 WHEELOCK PKWY W						
*Ward: 5						
*Pending as of: 4/18/2018						
Christopher J Ohland	COTTAGE HOMES SUBJ TO WIDENED	Grade and Pave	90.95	100.00	\$9,095.00	24-29-23-31-0069
Jennifer L Ohland	WHEELOCK PKWY PART OF LOT 17	Lighting	16.05	100.00	\$1,605.00	2.29 20 01 0009
470 Wheelock Pky W	SELY OF ORIG PKWY AND NELY OF L RUN NWLY FROM SE COR AND AT				\$10,700.00	
St Paul MN 55117-4258	ANGLE OF 43 DEG 28 MIN FROM S L	*** Owner and Taxpay	ver ***			
*470 WHEELOCK PKWY W	OF SD LOT 17					
*Ward: 5						
*Pending as of: 4/18/2018						
Jeffrey T Hauer	TAYLOR'S WHEELOCK ADDITION	Grade and Pave	90.95	45.00	\$4,092.75	24-29-23-31-0066
471 Wheelock Pky W	LOT 3	Lighting	16.05	45.00	\$722.25	
St Paul MN 55117-4259					\$4,815.00	
*471 WHEELOCK PKWY W		*** Owner and Taxpay	ver ***			
*Ward: 5						
*Pending as of: 4/18/2018						
Orville K Wold Trustee	COTTAGE HOMES EX W 135 FT PART	Grade and Pave	90.95	85.00	\$7,730.75	24-29-23-34-0005
C/O David T Wold	OF LOT 17 SELY OF WHEELOCK	Lighting	16.05	85.00	\$1,364.25	212/2004 0000
1658 Lake Johanna Blvd	PKWY AND SWLY OF L RUN NWLY FROM SE COR OF AND AT ANGLE OF				\$9,095.00	
Arden Hills MN 55112-3669	43 DEG 28 MIN FROM S L OF SD LOT	*** Owner and Taxpay	/er ***		Ψ2,022.00	
*474 WHEELOCK PKWY W	17 AND EX W 135 FT THE N 250 FT OF					

\*474 WHEELOCK PKWY W

\*Pending as of: 4/18/2018

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 1923 Resolution #:	0 Assn	nt: 185202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Djordje L Virijevic	TAYLOR'S WHEELOCK ADDITION	Grade and Pave		90.95	45.00	\$4,092.75	24-29-23-31-0067
Daniella S Virijevic	LOT 2	Lighting		16.05	45.00	\$722.25	
475 Wheelock Pky W						\$4,815.00	
St Paul MN 55117-4259		*** Owner and Tax	payer ***				
*475 WHEELOCK PKWY W							
*Ward: 5							
*Pending as of: 4/18/2018							
John B Mischke	COTTAGE HOMES EX THE W 55 FT,	Grade and Pave		90.95	80.00	\$7,276.00	24-29-23-34-0041
Sherie Bosak	THAT PART OF THE W 135 FT OF LOT 17 LYING SLY OF WHEELOCK PKWY	Lighting		16.05	80.00	\$1,284.00	
321 Raymond Ave Ste 300	& EX THE W 55 FT, THE W 135 FT OF					\$8,560.00	
St Paul MN 55114-1525	THE N 250 FT OF LOT 29	*** Owner and Tax	payer ***				
*480 WHEELOCK PKWY W							
*Ward: 5							
*Pending as of: 4/18/2018							
Anthony N Coffey	TAYLOR'S WHEELOCK ADDITION	Grade and Pave		90.95	74.00	\$6,730.30	24-29-23-31-0068
183 Wheelock Pky W	LOT 1	Lighting		16.05	74.00	\$1,187.70	
St Paul MN 55117-4259						\$7,918.00	
*483 WHEELOCK PKWY W *Ward: 5		*** Owner and Taxp	payer ***				
*Pending as of: 4/18/2018							
Steven Erickson	COTTAGE HOMES THE W 55 FT LYING			90.95	64.00	\$5,820.80	24-29-23-34-0047
Mary J Erickson	SLY OF PKWY OF LOT 17 AND W 55 FT OF N 250 FT OF LOT 29 AND EX W	Lighting		16.05	64.00	\$1,027.20	
184 Wheelock Pkwy W	30 FT AND EX N 250 FT; THAT PART					\$6,848.00	
St Paul MN 55117-4258	LYING NWLY OF RR R/W OF LOT 29	*** Owner and Tax	payer ***				

\*484 WHEELOCK PKWY W

\*Pending as of: 4/18/2018

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment R	•	Project: 19230 Resolution #:	Assmt: 185202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Unit F	Rate Quantity	Charge Amts	<b>Property ID</b>
Sherry J Palfalvi 487 Wheelock Pkwy W St Paul MN 55117-4260 *487 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	COTTAGE HOMES E 5 FT OF LOT 10 & EX THE N 60 FT OF THE E 90 FT OF LOT 11 BLK 1 MINN REALTY HIGHLANDS AND IN SD COTTAGE HOMES EX PART N OF A L 60 FT S FROM AND PAR WITH THE N L OF SD	Grade and Pave Lighting  *** Owner and Taxpay	10	0.95 97.00 6.05 97.00	*	24-29-23-31-0077
Claudia L Sculley 490 Wheelock Pky W St Paul MN 55117-4285 *490 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	BERNARDINE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. SUBJ TO PKWY LOTS 1 2 AND LOT 3	Grade and Pave Lighting  *** Owner and Taxpay	10	0.95 125.00 6.05 125.00	* ,	24-29-23-34-0009
Sharon Capuano George Trustees Steven D George Trustees 493 Wheelock Pky W St Paul MN 55117-4260 *493 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	MINNESOTA REALTY HIGHLANDS EX THE N 60 FT PART OF LOT 11 LYING W OF THE E 90 FT & EX E 5 FT LOT 10 BLK 1	Grade and Pave Lighting  *** Owner and Taxpay	16	0.95 66.00 6.05 66.00	*	24-29-23-31-0078
Robert J Simonet Bonnie C Simonet 494 Wheelock Pky W St Paul MN 55117-4285	BERNARDINE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. EX PKWY AND EX W 63 54/100 FT LOTS 26 27 AND LOT 28	Grade and Pave Lighting  *** Owner and Taxpay	10	0.95 60.00 6.05 60.00	*	24-29-23-34-0028

## \*494 WHEELOCK PKWY W

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 1923 Resolution #:	0 Assm	nt: 185202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Un</u>	it Rate	<b>Quantity</b>	Charge Amts	<b>Property ID</b>
Dawn Letourneau 495 Wheelock Pky W St Paul MN 55117-4260 *495 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	MINNESOTA REALTY HIGHLANDS LOT 9 BLK 1	Grade and Pave Lighting  *** Owner and Taxp	oayer ***	90.95 16.05	66.00 66.00	*	24-29-23-31-0079
Michael Squillace 7250 Nw 84th Ave Parkland FL 33067-1075 *496 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	BERNARDINE ADDITION TO THE CITY OF ST. PAUL, RAMSEY CO., MINN. EX PKWY W 63 54/100 FT OF LOTS 26 27 AND LOT 28	Grade and Pave Lighting  *** Owner and Taxp	payer ***	90.95 16.05	0.00 0.00		24-29-23-34-0029
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013						
Deweh L Boayla 499 Wheelock Pky W St Paul MN 55117-4260 *499 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	COTTAGE HOMES E 45 FT OF W 78 FT OF S 150 FT N OF WHEELOCK PKWY OF LOT 16	Grade and Pave Lighting  *** Owner and Taxp	oayer ***	90.95 16.05	0.00 0.00		24-29-23-31-0080
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013						

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

10:57:33 9/6/2018	Public Improvement Assessment R	coll by Address Catification Date:	Project: 19230 Resolution #:	Assm	t: 185202	Manager: LM	Page 8
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Uni</u>	t Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Timothy K Holmquist Deborah M Holmquist 500 Wheelock Pky W St Paul MN 55117-4212 *500 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	COTTAGE HOMES SUBJ TO ST E 67 FT OF W 132 FT OF N 132 FT OF PART S OF PKWY OF E 1/2 OF LOT 31	Grade and Pave Lighting  *** Owner and Taxpa	ayer ***	90.95 16.05	0.00 0.00	\$0.00 \$0.00 \$0.00	24-29-23-33-0001
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013						
Sarah Elizabeth Larsen Trust Agreement 505 Wheelock Pky W St Paul MN 55117-4213 *505 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	SCHLETTI ADDITION LOTS 13 AND LOT 14	Grade and Pave Lighting  *** Owner and Taxpa	ayer ***	90.95 16.05	0.00 0.00	\$0.00 \$0.00 \$0.00	24-29-23-32-0067
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013						
Connie Mae Petersen 510 Wheelock Pky W St Paul MN 55117-4212 *510 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	COTTAGE HOMES W 65 FT OF N 132 FT OF PART S OF PKWY OF E 1/2 OF LOT 31	Grade and Pave Lighting  *** Owner and Taxpa	ayer ***	90.95 16.05	67.00 67.00	\$6,093.65 \$1,075.35 \$7,169.00	24-29-23-33-0002
Walter J Swan Cheryl L Swan 517 Wheelock Pky W St Paul MN 55117-4213 *517 WHEEL OCK PKWY W	WHEELOCK HEIGHTS SECOND ADDITION LOT 11	Grade and Pave Lighting  *** Owner and Taxpa	ayer ***	90.95 16.05	45.00 45.00	\$4,092.75 \$722.25 \$4,815.00	24-29-23-32-0068

\*517 WHEELOCK PKWY W

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment F	•	Project: 19230 Assi Resolution #:	mt: 185202	Manager: LM	Page 9
Owner or Taxpayer	Property Description	Item Description	Unit Rate	Quantity	Charge Amts	Property ID
Keith A Manders Mary C Manders 518 Wheelock Pky W St Paul MN 55117-4212 *518 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	WHEELOCK VIEW LOT 1	Grade and Pave Lighting  *** Owner and Taxpa	90.95 16.05	43.00 43.00	\$3,910.85	24-29-23-33-0016
Holly J Hugart Jacob A Hugart 522 Wheelock Pky W St Paul MN 55117-4212 *522 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	COTTAGE HOMES W 92 55/100 FT OF E 135 1/10 FT OF N 125 FT OF PART OF W 1/2 LYING S OF WHEELOCK PKWY OF LOT 31		90.95 16.05 eyer ***	0.00		24-29-23-33-0017
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013					
Louis D Ferraro 525 Wheelock Pky W St Paul MN 55117-4213 *525 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	WHEELOCK HEIGHTS SECOND ADDITION LOTS 12 AND LOT 13	Grade and Pave Lighting  *** Owner and Taxpa	90.95 16.05 eyer ***	0.00 0.00		24-29-23-32-0069
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013					

10:57:33 9/6/2018	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19230 Resolution #:	Assmt	: 185202	Manager: LM	Page 10
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Barbara A Nelson 534 Wheelock Pky W St Paul MN 55117-4214	SCHLETTI'S THIRD ADDITION LOT 1	Grade and Pave Lighting		90.95 16.05	0.00 0.00	\$0.00 \$0.00 \$0.00	24-29-23-33-0018
*534 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018		*** Owner and Taxp	oayer ***			50.00	
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013						
William E Nystrom	WHEELOCK HEIGHTS LOT 11	Grade and Pave		90.95	0.00	\$0.00	24-29-23-32-0087
Margarita S Nystrom 535 Wheelock Pky W		Lighting		16.05	0.00	\$0.00 \$0.00	
St Paul MN 55117-4215  *535 WHEELOCK PKWY W  *Ward: 5  *Pending as of: 4/18/2018		*** Owner and Taxp	oayer ***			50.00	
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013						
Jay R Hill Sheila A Wewers	SCHLETTI'S THIRD ADDITION EX W 54 FT LOT 3 AND ALL OF LOT 2	Grade and Pave Lighting		90.95 16.05	54.00 54.00	\$4,911.30 \$866.70	24-29-23-33-0019
1585 Dunlap St N St Paul MN 55108-2215 *538 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018		*** Owner and Taxp	oayer ***			\$5,778.00	
Patrick M Coyne Jenifer S Coyne 539 Wheelock Pky W St Paul MN 55117-4215 *539 WHEELOCK PKWY W	WHEELOCK HEIGHTS LOT 12	Grade and Pave Lighting  *** Owner and Taxp		90.95 16.05	45.00 45.00	\$4,092.75 \$722.25 \$4,815.00	24-29-23-32-0088

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment F	Roll by Address Ratification Date:	Project: 192 Resolution #		nt: 185202	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	Ţ	nit Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Monica M Costello 2485 Spring Lake Rd Sw	SCHLETTI'S THIRD ADDITION W 54 FT OF LOT 3	Grade and Pave Lighting		90.95 16.05	54.00 54.00	\$4,911.30 \$866.70	24-29-23-33-0020
Shakopee MN 55379-9530 *544 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018		*** Owner and Taxp	ayer ***			\$5,778.00	
Whitney Starkey 1840 Sioux Blvd New Brighton MN 55112-7233	WHEELOCK HEIGHTS LOT 13	Grade and Pave Lighting		90.95 16.05	45.00 45.00	\$4,092.75 \$722.25 \$4,815.00	24-29-23-32-0089
*545 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018		*** Owner and Taxp	oayer ***			\$ ,,010.00	
Caleb K Klinge Laura S Klinge 549 Wheelock Pkwy W	WHEELOCK HEIGHTS LOT 14	Grade and Pave Lighting		90.95 16.05	45.00 45.00	\$4,092.75 \$722.25 \$4,815.00	24-29-23-32-0090
St Paul MN 55117-4215  *549 WHEELOCK PKWY W  *Ward: 5  *Pending as of: 4/18/2018		*** Owner and Taxp	oayer ***			\$ 1,010.00	
Anthony Nelson Marie Nelson 552 Wheelock Pky W	SCHLETTI'S THIRD ADDITION EX W 60 FT LOT 4	Grade and Pave Lighting		90.95 16.05	62.00 62.00	\$5,638.90 \$995.10 \$6,634.00	24-29-23-33-0021
St Paul MN 55117-4214		*** Owner and Taxp	oayer ***			ф0,03 <del>4</del> .00	

\*552 WHEELOCK PKWY W

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment	Roll by Address Ratification Date:	Project: 19230 Resolution #:	Assmt: 185202	Manager: LM	Page 1
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit I</u>	Rate Quantity	Charge Amts	<b>Property ID</b>
Phillip Samuel Shaffer 553 Wheelock Pkwy W St Paul MN 55117-4215 *553 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	WHEELOCK HEIGHTS LOT 15	Grade and Pave Lighting  *** Owner and Taxpa	10	0.95 45.00 6.05 45.00	. ,	24-29-23-32-0091
John P Paitich Lisa M Paitich 557 Wheelock Pky W St Paul MN 55117-4215 *557 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	WHEELOCK HEIGHTS LOT 16	Grade and Pave Lighting  *** Owner and Taxpa	10	0.95 0.00 6.05 0.00		24-29-23-32-0092
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013					
Daniel Weyandt Marlys Weyandt 558 Wheelock Pky W St Paul MN 55117-4214 *558 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	SCHLETTI'S THIRD ADDITION W 60 FT OF LOT 4	Grade and Pave Lighting  *** Owner and Taxpa	10	0.95 0.00 6.05 0.00		24-29-23-33-0022
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013					

StPaul\_Assessment\_Roll\_Assessment\_by\_Address

10:57:33 9/6/2018	Public Improvement Assessment I	•	Project: 19230 Assm Resolution #:	t: 185202	Manager: LM	Page
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Ann E Freedman Stuart P Nelson 560 Wheelock Pky W	MAYHAM'S ADDITION TO ST. PAUL EX PKWY LOT 1 AND ALL OF LOTS 2 AND LOT 3 BLK 1	Grade and Pave Lighting	90.95 16.05	0.00 0.00	\$0.00 \$0.00 \$0.00	24-29-23-33-0040
St Paul MN 55117-4216  *560 WHEELOCK PKWY W  *Ward: 5  *Pending as of: 4/18/2018		*** Owner and Taxpa	yer ***		\$0.00	
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013					
Lee A Hartzheim Esther J Hartzheim	FIEDLER'S SUBDIVISION EX N 18 FT FOR ALLEY LOT 1	Grade and Pave Lighting	90.95 16.05	0.00	\$0.00 \$0.00	24-29-23-32-0112
563 Wheelock Pky W		Lighting	10.03	0.00	\$0.00	
St Paul MN 55117-4217  *563 WHEELOCK PKWY W  *Ward: 5  *Pending as of: 4/18/2018		*** Owner and Taxpa	yer ***		\$0.00	
	Previous Asmt Asmt #135201 Rice/Arlington Levied 10/02/2013					
Chad A Macheel	FIEDLER'S SUBDIVISION EX N 18 FT FOR ALLEY LOT 2	Grade and Pave Lighting	90.95 16.05	45.00 45.00	\$4,092.75 \$722.25	24-29-23-32-0113
Deborah A Carlson-Doom 567 W Wheelock Pkwy		rigiting	10.03	45.00	\$4,815.00	
St Paul MN 55117-4217		*** Owner and Taxpa	yer ***		•	

\*567 WHEELOCK PKWY W

\*Ward: 5

10:57:33 9/6/2018	Public Improvement Assessment Roll by Address Ratification Date:		Project: 19230 Assmt: 185202 Resolution #:		Manager: LM	Page 14	
Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<u>Unit</u>	t Rate	<b>Quantity</b>	<b>Charge Amts</b>	<b>Property ID</b>
Cameron B Divertie Dorene J Divertie	FIEDLER'S SUBDIVISION EX N 18 FT FOR ALLEY LOT 3	Grade and Pave Lighting		90.95 16.05	45.00 45.00	\$4,092.75 \$722.25	24-29-23-32-0114
571 Wheelock Pky W St Paul MN 55117-4217 *571 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018		*** Owner and Taxp	oayer ***			\$4,815.00	
James D Diebel	COTTAGE HOMES EX PKWY THE E 67 5/10 FT OF S 212 FT OF W 1/2 OF LOT	Grade and Pave Lighting		90.95 16.05	67.00 67.00	\$6,093.65 \$1,075.35	24-29-23-32-0115
Sarah I Diebel 573 Wheelock Pky W St Paul MN 55117-4217 *573 WHEELOCK PKWY W *Ward: 5	13	*** Owner and Taxp		10.03	67.00	\$7,169.00	
*Pending as of: 4/18/2018  Jayne Windnagel 581 Wheelock Pkwy W St Paul MN 55117-4217  *581 WHEELOCK PKWY W  *Ward: 5  *Pending as of: 4/18/2018	COTTAGE HOMES E 67 5/10 FT OF W 97 5/10 FT OF S 152 FT OF N OF PKWY OF LOT 13	Grade and Pave Lighting  *** Owner and Taxp		90.95	67.00 67.00	\$6,093.65 \$1,075.35 \$7,169.00	24-29-23-32-0116
Douglas R Hartmann Teresa A Swartz 586 Wheelock Pky W St Paul MN 55117-4216 *586 WHEELOCK PKWY W *Ward: 5 *Pending as of: 4/18/2018	MAYHAM'S ADDITION TO ST. PAUL SUBJ TO WHEELOCK PKWY LOTS 43 THRU LOT 46 BLK 1	Grade and Pave Lighting  *** Owner and Taxp		90.95 16.05	87.00 87.00	\$7,912.65 \$1,396.35 \$9,309.00	24-29-23-33-0058
Total Grade and Pave: Total Lighting:	\$243,018.40 \$42,885.60						
Project Total:	\$285,904.00						

10:57:33 9/6/2018 Public Improvement Assessment Roll by Address Ratification Date: Resolution #:

Owner or Taxpayer Property Description Item Description Unit Rate Quantity Charge Amts Property ID

Owner or Taxpayer	<b>Property Description</b>	<b>Item Description</b>	<b>Unit Rate</b>	<b>Quantity</b>	<b>Charge Amts</b>
Less Total Discounts:	\$0.00	Residential Frontage:	16.05	5,344.00	\$285,904.00
Ecss Total Discounts.		Frontage Totals:		5,344.00	\$285,904.00

\$285,904.00

52 Parcel(s) 0 Cert. Exempt Parcel(s)

**Project Total:**